NT5005 1611505

2019(0dd)

Time : 3Hrs. Sem. Vth/Ag. E.
S.W.C.E.

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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10. Define land capability classification and explain

11.

the various limitation considered for capability

classification

A wrqar affexor & gR\IRa s qen
3ae! WA o snavad faarefig @ &1
fordd |

OR (3121a1)

How would you identity the various classes for

land use capability classification

I fea avg frerear Fffexo o fafr=
T &1 R ST uAE R |

Explain th various empirical relations for

computing the runoff.

Jarg &l ToET 1 @ farg A= wrfad
$T qoi9 o |
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(iii)

(iii)

3 1611505
Sl As gHi=d R 4R ol @ 98
.......... P B
(31) W=z s
@) IS® "s

SEIEK KK
(?) Swigd & & &g T8

Vertical spacing of a bund can be computed
by the equation.............

(@) VI==1 b
a

(b)w:%m
S

(C) VI= b +a

(d) All above (a, b, are constant)

As & SeAldR =RTel HI TOTOM ...
..... q B o @

S

(31) VI= ;-i—b
(@) Vi=+b
(&) VI=+a

(%) Swiad g+t (a, b ReRi® B)
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GROUPC (vi)  Which soil has greater erodibility.........

Answer all Five Questions. (a) Soil with greater depth

6x5=30 (b) Soil with lesser depth
aff a9 g+l & SR < (c) No effect of soil depth on erodibility
(d) None of above
7. Define wind erosion and describe the different
factors affecting wind erosion. ~vi)  fea ]l ¥ SgreT s)ifsfachd 87
6 (31) warer T Har
IR IURGA Bl URHATT S qAT IR UG @) @5 T g1
B guTfad & arefl fafir=1 aR®1 &1 fod | (W) T&T B TERTE BT DIy YATG Tl
(%) Swiaa g+
OR (3721d1) (vii)  Clay particles are more difficult to detach
by run off, but are easier to:
Write the measures to reduce the surface wind (a) Transport
locity and o 1 (b) Deposit
velocity and measures to improve soi (c) Disintegrate
characteristics against wind erosion. (d) Both (b) and (c)
HAE! 91 b AT Bl BH b dlel SUTEAT Bl (vii) el b DU DI ATAFN I IJYdTE gRI
ford d2m S Surl & ford S 9y eTuReA e B HfS ”g;““ 2 e
.............. 3T BIdT
3 fawg 931 & adv & IR 9D
1 g ! (31) faenfaa w=AT
(@) ST BT
8. Explain the phases of gully development and its (|) darssr
preventive measures. 6 (]) <iF1 (3) T (W)
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Write the steps to be adopted for computing the (x)
Runoff using unit Hydro graph with its limitation.

4
Ifie ssgiuTe fafr ¥ Iuare Y T
A @ foag avon &t fod dur s9 fafyr &)
drararl 31 fod | ()

OR (3121a1)

Define terminal velocity of a rain drop.

Write the factor affecting terminal velocity.

(xi)
auf @1 g @1 cfiFd 971 &I aRuarfa w3

qAT APl YA B dldl RS Dl ford

How it can be said that" In gully control a bag of
fertilizer is more important than a bag of cement."
4

Tell JuRed & fFRIfya o3 & fav e 471
NS IdS TR Ag@yel sidl & U &
Rrie @ gaar 7 |

(xi)
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Well drained sandy and rocky soils are......
(a) Least erodible

(b) Most erodible

(c) Less erodible

(d) None of these

Hell YHR I o e arefll 993 va

(") ¥ UG-
(%) SWIdd d | &Ig 81

A granular structured soil is ............
(a) Less erodible

(b) Least erodible

(c) More erodible

(d) None of above

(c) ST ¥ ¥ I T
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(xx)

(xx)
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The most relevant flow to cause soil erasion

(a) Laminar flow
(b) Uniform flow
(¢) Turbulent flow
(d) All above

SATGT YaTgl Bidl 2 |
(31) MR Ydig
(@) g¥= garg

(\) cdadIc yae
(%) SuIqa g+

GROUPB

Answer all Five Questions.

gl ufg yo=l & SR o

2.

4x5=20

Write with sketch the working of Tipping bucket

raingauge. 4

NT5005

(xiv)

(xiv)

(xv)

(xv)
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End sill is the d/s part of the
(a) Straight doop spillway
(b) Chute spillway

(c) Both (a) and (b)

(d) None of these

AT B4l =

(31) frem g Ruera

@) 3e a4

(@ QN @) va (@) §
(?) Swigd & & g T8

Bench terraces are most effective due to
control the

(a) Erosion

(b) Runoff

(c) Slope

(d) Both (a) and (b)

9+ X9 galaq gardl e 9 ffya
24 | -SRI
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() < () wd (9)

P.T.O



O'L'd

n2JerDue

LD 2Ubh e Rin {3 pap (b)

3Ibh 1e RIn AT P2k (k)
bkbahie 212 (b)

Ekbahie 1Pk ()

& BORJK 167 kD30 IM@) kS

Sumno
Iopun £q pue 19Jem Juruuni Jo 20104 (p)
Iorem 3uruuni 92104 (9)

uorsoI1d 310ys (q)
uoIsord Ao ()
......... JO 3INsSax oy} SI UOISLId Juk(q Weans

Bk Bl B b bohe (b)

Iblke R 3lep ¢ b (R)

b B Slb® & Bb (b)
fle® @ kb (k)

2 |PA® bbb (& hdbD

@ BN LBIS @b Dopasly

953y Jo auoN (p)

Y319y $,991) uey) AIOA (9)
Y319y s,001 uey} ssa7 (q)
wSioy 50011, ()

.......... 0) [Bl’lbs weans

(x1%)

(x1x)

(x1%)

UMOP J& 90UB)SIP 9} $)09301d 3[9qINAYS (1m1Ax)

SOSTII9I 11

S00S.LN

Bl Blb B b DPRRS (2)
ke (B)

Bhal (b)

AbRD (i)

2R 1@ 15k bIn 112 IbIke Bbahie RIb  (14%)

dA0qe Jo duoN (p)

paudIsiolN (9)

pazLvA[nd (q)

ApporD (®)

.......... s1 o0RyINS

[10S UUM 9( [[IM UOISOId puIM IJBIIr)

Bk Bl® B b bplahe (b)

BE R2R|eR (R)

Bb 2p (b)

BP 2p bh KRGk (k)

|12 Il 3k bin 1|2 RIWS b
Lo bbihie Rlb |plkehk Ibiko DoprDIA

asayy Jo duoN (p)

oo smdATeony (9)

soan 19g (q)

$9a1 10g + sea1 smydAeony ()

:AQ PoIMIISUOD ST 31 UAYM [OJJUOD UOISOID
PUIM JOJ QAT}OQYQ dI0W o [[IM 3[3q NS V

S00S.ILN or

(11ax)

(14%)

(14%)

SOSTI9N



	1: 20 - 1
	2: 2-19
	3: 18-3
	4: 4-17
	5: 16-5
	6: 6-15
	7: 14-7
	8: 8-13
	9: 12-9
	10: 10-11

